Yjamato

BN &k S BB &
Instruction Manual

& DH Ui BY4 ARt 3 —<
FEED-OFF-THE-ARM 4-NEEDLE FLAT SEAMER

FD-62G-20

4 Y
FD-62GDEKERRIE & BN R L DN % This instruction manual shows difference
HLTWET, : from that of FD-62G.

FD-62G OEUkGIEE L HbETERTE Read the instruction manual of FD-62G also.
(AW

Before using our product, please read this
instruction manual thoroughly and
understand the contents well.

ARRZOERICH > Tid. BURSIHES
BRETEFAVLLEE. R L<EBREL

TIBELCBRENC RS, After reading this instruction manual
Ffo. BEHICHoIBIE. BEVCERBS o .tq oot who e o
RNSTHEBND &2 BICBEL T A please keep it in a location where it is easy
W to access for operators.

\ ° J

% YAMATO SEWING MACHINE MFG. £O,LTD.



H X/Contents

1. BWEEELT—YOEEAH 1
2. EWERSDOREE 2
3. SYVORE 3
3.1 Homs 3
32 IW—IRD5lFE 4
33 X DOWMD 1775 &£ RE 5
34 BIOWmDOALA 6
35 BIOWMD N IFH ERH 7
36 HToZNrULEDREN 9
37 4t R OFRE 9
4, Ik 10
1. Sewing speed and pulley's rotating direction 11
2. Stitch length adjustment 12
3. Sewing machine adjustment 13
3.1 Needle heights 13
32 Looper distance 14
33 Feed dog installation and adjustment 15
34 Presser foot removal 16
35 Presser foot installation and adjustment 17
3.6 Presser foot floating amount adjustment 19
37 Fabric guide adjustment 19
4. Specifications 20

*)%kkx [LLUSTRATED SPARE PARTS LIST sk %k %k
Model
FD-62G-20



1. gunEEs 77—y oEESE

CDIvroREERIX. 849 3,5008F #AE4S 3,200
ﬁ‘l“‘(\‘\j‘o
7Y OEEAAIRRIO LS 2. EKEHHFAR D T,

3 ==
II:%
7—UBBEHRL TWR EEELSBBNATIFIVY
PHELET,

NN MEMEBIVARL Y 2HHLTLEZ WL,
RINVEBBEATE—Y U RERLE-7-LE, E—%
TV EI 7= DhLR—FT B kI IcE— YD

BEPROTLFEZ N,
5. bmm
_ N 10mm
MmI - Ml_
(BEhR)
!
2
(BB)RIE3ME2B400 7 v F(1/2HP)D 7 5 v F & — E—-FS—Y ST VDORRAEE (rpm)
» REHOBETT, DHE(mm) 50Hz 6 0Hz
RO 7 — V1. &2 5mm B2 > T 3 7= 45 1950 2350
B, FHEFEIGEWTERO 77— 2EELE L. 50 29200 2650
55 2500 2950
" =i 60 2750 3250
AE =2 65 3000
AEROBERUEE—F7—UEFEBHLTLEEW, 70 3250

BALEE—97—URBALBVE, SYYORE | £
EESERR. IYYOHRETIRALDET,

FD-62G-20



2. EVWHES DL

N =iy
II IE
BRWERSOBAMETHEXR. BFE—VYOERE

10, E—SDEEFELEZRBLTHSTo> TS
We BIDBZETBIHEENNBDET,

OUHOR XX 1.6mm 25 5mm ¥ CERMICHMicx

K

RiIHWEHEZ AR 14 YF(25.4mm)E DV BEEE D

30mm FoRgvHETd,

KEBEDOHE O L) o WHE XX,
o TR ET,

EMOBIRE EX i

<BWBRZODEZIHIE>
RV FEHAL N—DT 3.3 ~5mm OFEHBNTE T,
(X Hi7HRF 5mm)
ZNTICHAE T 28413,
1. 79 72 2Q@%HY 45,
2.2 PQ%ED, TABEXY 3,
SRR ISHREE, 2@ Lov oMy, 7
772 CQEWMY AT B,
4. 81327 (B) DA 21T »
HETZ S LV — BB E S L &, #RA (R0
3Z0TE & FE#H1Z 0.05 ~ Imm DORRRE2 3T 2,
(FD-62G HULFHE P36 T#Z 4 (18), 2 )

ROMEFFTIT>TLZ &0,

ROUHOREE | #BuwEK ARISE
(14 v 5[8)
(mm) (25.4mm) | (30mmf)
1.6 16 19
2 12 15
3 8 10
4 6 7.5
5 5 6
£2
EwER I

&/ 3.3mm

L)
A

\‘a@wa%a«%
Sk
¢

X 3

FD-62G-20




3. SYVOHEE
ANEE

WEZTSLER. BFE—YOBEEYL., E—
SOEGERIEERB LB, FEEET>TIREIWL,

3.1 #HoEa |

B ERDLE, Eh o AFBEHDE L SR LT E O
B3 13.89mm <7,

HOE S OFENIX. EROZEI AL, sHERF IL2TO%
BT, #HHEQ@E ETLTHVET,

)Y T+ FEHIERL A,

XHES 7 —Y(N0.68360) & 7 & } ¥ v (N0o.68370)% i
AINF T LAHEEICTZ ET,
TAFEV@ZEIEXADED» S AFBHOUC AN, §HiE
PRERDEE, HBEY —2O®D 13.89mm D4y
TERZL, RA—XITABEIICHE LTI,

13.89mm

X5

L

O~
C

63E

X7

FD-62G-20




3.

3.2 IL—IXD5|iF=E

W—NDBRERDOEE, N—OEEL. ESOoHN
EDHE#IZ 3.5 ~4. lmm TF,
X, V—RNEBEZPOZ2EDTHET,

M — Bl 7 —(3021700)0% ZHEA X NUE § L THE
HEEBIZITZ E7,
DT —2ix3.5mm T,
D —YRERELTL—72DB|IFE% 3.5~4.lmm
DRETHE L TLEZ W,

FD-62G-20



w
e

3.3 XYW A LR

(DRVBLZFL L ErOiE
SUVITOHRRMEILHBEVEIF DR, ¥
VORI ZWRET2HDHLDTE,
RBYZEWOMIT BRI, ZF L ErD R4 NERK
FIZLTIERPOTREZEL T E X v,

N, ETREUCEOFAMS BN TEL X 1T 20T
o (ETRIZXY REET 2.78mm)

IX¥eYEVIE, BEFAEICET ERY B ENY . K
BFAMIETETB3 L) I FRHZERDTH D
R

(2)2Y DELY fHiF
RYQORIERY@T, EYRZTORILR YO THRY [t
7,

BREY oEX
EFT. BURFODIERCOREDTEBRTLEI Y,
RBYEPRD Lokt &, RYETEOIIOBRBES
R EH X D 1.2mm iz & H T F I\,
RBYDEIDPRES TS IEXI@®2MOMITTLESR
|29

10

11

B 12

FD-62G-20



3. .

L re—
3.4 HIORYALA

(IDEFCOZERYSL. v—FH)FOZEY 47,
@)F v t@%ED. EFVOFHIAL., m—FMx o Y (o
(#B)Z2EY 549, 3
QER®ZI L. MIBEEXDIEXCO2RED 5, o o 1
(AR ANZFHEHF ORI S L, HZEE20~25mm o
ENER > o Q)
o Q 00
(e 7
(*]
- @ 2

P13

FD-62G-20



w
I}

e

3.5 HIDEDfHTAEHE

(W= 2/HAT 3,
TDLEE, ¥XYTP792R)—=TD2F> VP77
2 ITRXAVPOIIANS,

CHZIERYOIT Y P2y F LIORE TR IBETY /-
hERZ MO B,

(BT AZFHE R ORI 1) 5,
@ptE2RTRIZL. MIT@ZEROIEEIE T, #

IBEFOEMIBEEF 7y av@LoT 2R 0.5
mmiZL<, IkXPOTEET 5,

15

16

X 17

FD-62G-20



W
i

B

GHZBTr RINEREAT, 2@ b EiFHs,
HIEXDDW Y RELFE 7y 7QDT SR B4,
HImb Mokt E, 20T EM20.3mm iz 3
XHLvHI—E., HrBEEFyOOMBERBROELTL®
‘C’:b)o
XIOHMIX., 79 72BBLEVAIBTFoTLE

g lllo

GINY FFRAL—VZ2EILT, #iVvk*x vV 7@a885T
WEMETHESIY>I02E LT, HriEmx@ric
BiEX 7y ary@od iz Ommicd 3,

(MALBEREXFOILFPOEED, Hi)RF v 704
TH@BED 2ROHDFRIZET, LoDk H
BEL2wE)cHHL., L2 0203,
ERP0Z LDH7E. REMVRF LY 7ORBTE
@28, SHCEML TV RT3,

BFHI Y~ I®ZEL., HIFIFH LG T T, 8t
BYURTROLEI, MII@oHBRICEML T30
HERs 5.

OFZDEFTORNT Y FEROAL, v —F =2
DT 5,

(10)u — 7 (R)WBT@ZEY 172,

(LB %% v UV 7 ORBNT @S, $FEBML Tuln
PHERT 5,

0.3mm

X 18

19

X 20

FD-62G-20




w
il

GE

E

3.6 HIDZH,ULEDOBE |

VY PA=VDITLEREHIRE L DEFEZD LT
58, WrA@FE2ZrLTwET, (HHEF 2mm)
EHDOEANEL . FHBIANTOLESICIZ. HofED
EFrLEEZDRLET,

HEGEIZ. ERCORBO., MIZOMBERZTEH L, Ik
FPOCTMIZZEELET.

COFEFETE. MIZEHREmMCTEMBHEETD
<. RSO (4)~(8)% £ L Tt LT 7
o,

3.7 &EMA4 R OHRE

WO EMAT4 PO, EH—HIDOTEMITES L
I A A FRERICHEETL T EI v,

AE(TLMEZRBUIEEE. HHABEEEREN
BoBICEROCIBENHDET,
CD&SHZEER. SPEREIYUIOYATILEAN
TLIEEW,
HEOBEWYYIAVAMINEZFERTIELDHERD
hxEd,

N J

Q‘:—; 1
. Ll L
I H R 2mm
X 21
e W s
a O]
L _‘-HL-r'_
I /\q}@T )
X 22

FD-62G-20



4. it

R
HMBIT R

Hig

G ARY =Y
AP Y S
RUERZ

gtHig

A gt
Hxb»nhg
Y R
e cgabes

e R
BrihE

%

FD-62G-20

o83 420mm

218 300mm

25 410mm

HE 23kg(FEERD &)

Txy PA—VEODERED(AAEL)
ISO #i#& 607

& 3500rpm

1.6 ~ 5.0mm

EOHEE 14 vF(25.4mm)id 5~ 16 %
30mm g 6~ 19 &t

5.2mm(13/64 £ )
FL118GCS#12(V 7 4 F$1RH)

BA 7.0mm

LKL T Y LROES

¥F7 Ry 7z & 5 HEHEH

¥ b SEA AN #68(F1L v Y 68 THH])
7V —24%3100cc. ¥V v F#100cc
AR, —HEY (EEEL)

MR IR — S

FD-62G-20

10



1. Sewing speed and pulley's rotating direction

This machine's rotating speed is up to 3,500 r.p.m.
and 3,200 for regular use.

The pulley's rotating direction is clockwise as shown
in Figure,

/AWARNING

If the machine pulley reverses, oil cannot be
properly supplied and the machine can be
damaged.

Use an M-type V belt for the belt.

Install the motor so that the center of the motor
pulley and that of the machine pulley are alined
when the pedal is toed down and the motor pulley
comes to the left.

Note: The table is for using a 3-phase, 2-pole and
400 W (1/2 HP) clutch motor.
Outside diameter of pulleys on the market
changes by 5 mm. This table shows pulleys'
sizes according to this change.

/AWARNING

Use only the motor pulleys applied to this
machine. If not, the machine can over the
speed limit and be damaged.

Fig. 1
5. bmm
10mm
(effective ! | ll '
diameter)
Fig. 2
outside sewing speed (r.p.m.)
diameter (mm) 50Hz 6 0H z
45 1950 2350
50 2200 2650
55 2500 2950
60 2750 3250
65 3000
70 3250
Table 1

11

FD-62G-20



2. Stitch length adjustment

/AWARNING

Before ad justing the stitch length, ALWAYS
turn the power switch OFF and be sure that
the motor has already stopped.
If not, injuries can be caused.

Stitch length can be adjusted from 1.6 mm to 5 mm length counts Counits
variably. (per inch)
The table shows stitch counts for 1 inch (25.4 mm) (per 25.4 (per 30
(mm) mm) mm)
and 30 mm.
Note: Real stitch counts on finished materials differ ]'26 }S }g
according to kinds and thicknesses of 3 3 10
4 6 7.5
5 5 6
Table 2
< How to adjust stitch length >
The stitch length can be adjusted from 3.3 - 5 mm
with the feed adjusting external lever® . (At
shipment: 5 mm)
When adjusting the length to shorter than 3.3 mm, decrease \increase
take the following steps. 9} 5/ 77>
1. Set the lever® to the end of the decrease down to 9 up to
) ) 3.3 mm 5 mm
direction. ~—]
2. Remove the plug screw @. "5
3. Loosen the screW@ and move it down.
4. After adjusting the stitch length, turn the screw ®
securely and reinstall the plug screw @.
5. Adjust the rear needle guard. For this adjustment, Fig. 3

see Page 36 of the instruction manual for FD-62G.

Fig. 4

FD-62G-20

12



3. Sewing machine adjustments

A\ CAUTION

Before making ad justments, ALWAYS turn the
power switch OFF and be sure that the motor
has already stopped.

3.1 Needle heights

When the needles are in the highest position, the
distance from the point of fourth needle from the left
to the stitch plate surface should be 13.89 mm.

To adjust the needle heights, remove the seal plug ®
and loosen the screw( for the needle bar connecting
bracket and move the needles up or down.

Note: A retainer needles is not used.

Note: To make this adjustment easier, use a needle

height gauge (optional) (#68360) and a test pin
(optional) (#68370).
Insert the test pin @ into the fourth hole from
the left and make adjustment so that the 13.89
mm part of the needle height gauge ® can be
inserted smoothly and without a clearance
when the needle bar is in the highest position.

==

13.89 mm

Fig. 7

13

FD-62G-20



3. Sewing machine adjustments

3.2 Looper distance

When the looper is in the extreme left position, the
distance from the looper's tip to the left needle center
should be 3.5 - 4.1 mm.

To make this adjustment, loosen the screw Q).

Note: To make this adjustment easier, use a looper

receding amount gauge (optional) (#3021700) Fig. 8

@. This gauge is 3.5 mm long.
Use this gauge as a guide.

Fig. 9

FD-62G-20

14



(1) Position of eccentric pin

The pin@® around the cylinder center is for
adjusting precisely the feed dog height.

Before installing the feed dog, make horizontal the
slot for a screwdriver on the pin. Then, fasten it
with the screw @.

This adjustment is for making the vertical feed
amount the same on both of the upper and lower
sides of the stitch plate surface.

The vertical feed amount is 2.78 mm on the
extreme rear part of the feed dog, and the
standard vertical feed amount of the upper side is
1.39 mm.

The eccentric direction of the eccentric pin is
decided as follows.

To raise the feed dog, turn the pin clockwise.

To lower the feed dog, turn the pin
counterclockwise.

(2) Feed dog installation

Attach the feed dog with the screw @.
Attach the feed dog stay ® with the screw ®.

(3) Feed dog height

First, loosen the screw ® on the feed dog stay®.
When the feed dog is in the highest position, the
extreme rear parts of the feed dog lines at both
ends should be 1.2 mm high from the stitch plate
surface.

After adjusting the feed dog height, tighten the
screw ® securely.

3. 3 Feed dog installation and ad justment

3. Sewing machine adjustments

Fig. 10

Fig. 11

Fig. 12

15

FD-62G-20



3. Sewing machine ad justmetns

s
3.4 Presser foot removal

(1) Remove the screw @, then remove the roller

(right) set@. o Y (o
(2) Loosen the nut®, remove the screw@, and 3
remove the presser foot c. set. o Pt T
(3) Remove the seal plug® and loosen the screw ® 5 o) 5
on the presser bar connecting bracket. Q ;.
(4) Remove the adjusting screw @ and pull up the 2 O o o)
\:-

presser bar 20 — 25mm.

Fig. 13

FD-62G-20

16



(1) Insert the presser foot.
Be sure that the carrier/hook driving sleeve Q) is
inserted into the carrier/hook driving segment @
at this moment,

(2) Tighten the flat surface place while the screw G
has the nut.

(3) Install the adjusting screw®.

(4) Lower the needle bar to the lowest position so that
the yielding section @ touches the stitch plate ®
completely. Then, set the clearance between the
presser bar connecting bracket@ and the cushion
©®to about 0.5 mm.

3. Sewing machine ad justments

‘

3.5 Presser foot installation and adjustment

Fig. 15

17

Fig. 16
(e ey
(] [KO)
L] ||
LT
. cﬁ\) .
L L g —
Fig. 17
FD-62G-20



3. Sewing machine ad justmetns

(56) Toe down the pedal, raise the presser foot slowly,
and check the clearance between the cut section
on the needle clamp @ and the hook ®@.

Adjust the position of the presser bar connecting

bracket@ again so that the clearance is 0.3 mm

when the presser foot is in the highest position.

Note: Do not forget to make this adjustment. If
so, the hook can be damaged.

(6) Rotate the hand wheel. When the top cover thread
carrier comes near to the needles, turn the
adjusting nut®, and set the clearance between
the bracket @ and the cushion® to 0 mm.

(7) Loosen the screw(0 on the bracket@), and adjust the
position of the carrier® so that its hook® is in the
center between the two needles and do not touch
both of them. Then, tighten the screw(0 securely.
After that, check that the hook® does not touch the
needles.

(8) Turn the adjusting nut@® and lower the adjusting
screw(. Check that the yielding section®@ touches
the stitch plate when the needle bar is in the lowest

position.

(9) Remove the screw® and the nut on the presser
foot, and install the presser foot.

(10) Install the roller (right) set®.

(11) Check that the hook® does not touch the needles.

0.3 mm

Fig. 18

Fig. 19

Fig. 20

FD-62G-20

18




3. Sewing machine adjustments

3. 6 Presser foot floating amount ad justment

The presser foot is floated to decrease the resistance
between an elastic part of wet suits and the presser
foot. (At shipment: 2 mm)

When a material is thin and floating, decrease the
floating amount of the presser foot.

To make this adjustment, loosen the screw D, adjust
the position of the yielding section, and fasten the
yielding section with the screw @.

At this moment, there is a clearance between the
yielding section and the stitch plate surface.
Therefore, see the steps(4) — (8) in "3.5 How to install
presser foot" and make adjustment.

3. 7 Fabric guide ad justment

Adjust the fabric guide's front-and-rear position so
that there is a clearance of thickness of a material
between the presser foot @ and the fabric guide @.

- NOTE N

When sewing elastic parts, needles can be

1@

C‘Zfﬂ,{
l |

¥
I

¥

at shipment:
2 mm

Fig. 21
e W mi
a IK0]
Lq—1=

!

a thickness
of a material

19

heated and leave damage beside stitches. E
In this case, supply the SP device with silicon S — _
oil . —
Silicon oil with lower viscosity has higher
effectiveness.
- J Fig. 22
FD-62G-20



4. Specifications

Model
Dimensions

Weight
Application
Stitch type
Sewing speed
Stitch length

Needle distance
Needle system
Presser foot lift
Feed regulation

FD-62G-20

Length 420 mm

Width 300 mm

Height 410 mm

23 kg (head only)

Lapping sewing for wet suits (without knife)
ISO 607

Up to 3,500 r.p.m.

1.6 - 5.0 mm

5 - 16 stitches per inch (25.4 mm)

6 - 19 stitches per 30 mm

5.2 mm (13/64 inch)

FLI18GCS#12 (a retainer needle is not used)
Up to 7.0 mm

Combination of lever system and dial system

Lubrication Automatic lubrication by gear pump
Lubrication oil YAMATO SF OIL #68
Oil amount In flame: about 100 cc  In cylinder: about 100 cc
Features Without knife, one presser foot (without differential),
compact presser foot and roller type presser foot
FD-62G-20

20



ILLUSTRATED SPARE
PARTS LIST

FD-62G-20



FD-62G-20 (1)

23@%@

Mvr Q-

FD-62G-20



FD-62G-20 EXCLUSIVE PARTS(1)

HTEFLERBRE1) |

RefNo Parts No. Description m B Amt. Req
1 3020470 Sewing Head Qil Defense(Left) V—A Ay REGHIR () 1
2 3020475 Carrier/Hook Driving Sleeve, C. Set F+vUFP-7v 7 RU—7(#0) 1
3 3020409 Bushing Ring Tyvayyy 1
4
5
6 3021241 Presser Bar HMIE 1
7 3021243 Eye Guard Holder PAH—RE 1
8 009751 Screw(M5-0.8 x 10) Exry 5
9 3021242 Eye Guard Plate 7AH— R 1

10 170044 Screw(M4-0.7 X 7) kExry 1
11 000010 Conical Spring Washer 1WA SR 2
12 000538 Washer A 1
13 000022 Nut Fwv bk 1
14 3021244 Eye Guard FAH-R 1
15 110076 Screw(M3-0.5 x 6) =87 2
16 000014 Washer vy 2
17 3021248 Finger Guard TavHA-R 1
18 110054 Screw(M3-0.5 x 35) Exy 1
19 3027207 Presser Foot, C. Set2{Roller Type) O—Z#I(#2) 1
20 3027206 Presser Foot, C. Set1(Roller Type) O—S#I(MET) 1
21 3027190 Roller Bracket O—>& 1
22 000334 Nut Fvhk 1
23 004441 Screw(11/64-40 X 16) Exy 1
24 000180 Nut Fvk 4
25 009744 Screw(M3-0.5 x 10) xRy 4
26 3027198 Pin O—>pE > 2
27 3027194 Adjusting Screw RERY 2
28 100052 Nut +vhk 2
29 160001 Screw(M4-0.7 X 4) Exy 1
30 3207148 Roller Spring O—Z/Xx 2
31 3027203 Pin gy 1
32 3027191 Roller Arm(Left) O—3>Bi(k) 1
33 160030 Screw(M3.5-06 X 3) Exry 2
34 3027196 Roller(Left) 0—35(k) 1
35 3027201 Roller Bearing Z—=RIRFZUVT 1
36 170055 Screw{M6-1 x 22} xy 1
37 000063 Nut Fv bk 1
38 3027192 Roller Arm(Right/Rear) O—SBi(a#R) 1
39 300000 Washer A o 2
40 3027193 Roller Arm(Right/Front) AO—Z k(&8 1

Ref. No. 41 to 61

See the following page.

FD-62G-20



FD-62G-20 (1)

lllllllllllllllllllllll

10
(3]

<
2 s

z
’

/

/

;
A\
7

FD-62G-20



FD-62G-20 EXCLUSIVE PARTS(1)

B7ETFIVERS®E()

1

Ref.No Parts No. Description m % Amt. Req
41 3027195 Roller Pin A—ZBftE> 1
42 3027202 Ball Bearing R=ILRF YT 1
43 3027197 Roller(Right) A—Z(A) 1
44 3027205 Presser Foot, C. Set2 HIT(HH2) 1
45 3027199 Presser Foot T 1
46 0068127 Carrier/Hook Driving Segment Fr U7 - TyoEBTAVE 1
47 0068128 Carrier/Hook Driving Lever Link *FvUFP - JwogLNR=Uvy 2
48 0068129 Link Pin Uyoy 4
49 004172 Screw(3/32-56 x 34) xRy 4
50 0068126 Thread Hook Driving Lever URTvILIN— 1
51 0068125 Top Cover Thread Carrier Driving Lever fURFrIFLIN— 1
52 3027204 Yielding Section INET 1
53 004134 Screw(1/8-44 x 6.5) Ry 1
54 3029311 Top Cover Thread Hook BRI v 1
55 004185 Screw(9/64-40 x 11.3) IRy 1
56 0068123 Top Cover Thread Carrier HURFYUT 1
57 004180 Screw(1/8-44 x 4.8) xy 1
58 3027200 Upper Fabric Guide &AL R 1
59 001228 Screw(3/32-56 X 3.2) =3 1
60 3021246 Roller Cover O—>Hh/— 1
61 009995 Screw(M3-0.5 x 5) IRy 1

FD-62G-20



2
FD-62G-20 (2)

FD-62G-20



FD-62G-20 EXCLUSIVE PARTS(2) Y7EFLERARRER) 2
—
RefNo Parts No. Description m % Amt. Req
1 3021240 Fablic Guide FihAHA R 1
2 001228 Screw(3/32-56 x 3.2) Ry 2
3 3021033 Lap Former Slide Block PP E RS 1
4 0068471 Lap Former Slide Block Spring PAPE G4 -YAe 1
5 004182 Screw(3/32-56 X 2.5) xRy 1
6 0068473 Lap Former Guide Plate(Right) YT 7 A—=NHA RIRE) 1
7 0068472 Lap Former Guide Plate(Left) T T 7= HA RIR(E) 1
8 004134 Screw(1/8-44 X 6.5) Exy 8
9 0068463 Sewing Cylinder Cover{Upper) PUVE EANR— 1
10 004218 Screw(3/22-56 x 1.6) Exy 1
11 3029021 Feed Dog *=Y 1
12 3029022 Feed Dog Stay KUZT 1
13 3028027 Stitch Plate iR 1

FD-62G-20



yjamato

PIYMEDVESERTEA
YAMATO SEWING MACHINE MFE. CO,LT0,

P/N 9730168 (P /| /EL)
No. 1 Edited in 2006.6

(FD-62G-20) Printed in Japan 2006.6.1 H®



	目次/Contents
	[P1]   1. 縫い速度とプーリの回転方向
	[P2]   2. 縫い目長さの調整
	[P3]   3. ミシンの調整
	[P3]   3.1 針の高さ
	[P4]   3.2 ルーパの引け量
	[P5]   3.3 送リの取り付け方と調節
	[P6]   3.4 押エの取り外し方
	[P7]   3.5 押エの取り付け方と調節
	[P9]   3.6 押エの浮かし量の調節
	[P9]   3.7 布地ガイドの調節

	[P10] 4. 仕様
	[P11] 1. Sewing speed and pulley's rotating direction
	[P12] 2. Stitch length adjustment
	[P13] 3. Sewing machine adjustments
	[P13] 3.1 Needle heights
	[P14] 3.2 Looper distance
	[P15] 3.3 Feed dog installation and adjustment
	[P16] 3.4 Presser foot removal
	[P17] 3.5 Presser foot installation and adjustment
	[P19] 3.6 Presser foot floating amount adjustment
	[P19] 3.7 Fabric guide adjustment

	[P20] 4. Specifications
	ILLUSTRATED SPARE PARTS LIST



